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SECTION A [40 marks]
(Attempt all questions from this section.) ~

Question 1 V.
Choose the correct answer and write the correct option. [26]

(i) A mechanism in Java in which data and methods are combined together as one unit is

termed as:
(a) Polymorphism
(c) Inheritance

«(b) Encapsulation
(d) Abstraction

(ii) Character literals in Java arc enclosed within a pair of:
. (ay Single quotes (b) Square brackets
(c) Double guotcs (d) Curly brackets

(iii) Example of an operator that can be used to combine two or morc¢ relational expression

forming complex decision making construct is:
(a) == (b) &&
(c) % (d) ++
(iv) Keyword that declares a variable as a constant is:'
(a) finally (by final
(c) public (d) constant
(v) Scanner class belongs to which of the following puckagc?
: (a) javaio (b) !ava.nct
y(c;,)/java.util (d) java.awt
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i) E’Z)ha; ;vill be the output of the expression Math.ceil(5.6) + Math.pow(3 2)?;
(b) 130 : ! :
(©) 140 Ceqdy 150 :

(i ii) W hat will be the value f T €) i W tate fx=
of x aftei executing the foll i if
X = (X < y) ?(X !,) x4 ; g 0 O ings atement if x 15 and y = 20?

@ 5 '
< (b) -5
(©) 25 Ed; 35
(viii) Which of the following is the correct declaration of a float type of a variable?
(a) floata =34.6546; (b) floata= 34.6546 f
(c) float 34.6546f=a; (d) floata = 34.654f;

(ix) Which gf the following loops will execute the body of the loop even when conditioy;
controlling the loop is initially false?
(a) for ) (b) while ~
(c¢) do-while (d) switch

(x) How many times will the following loop execute?
int num = 5000;
while(num > 1)
num =num/ 5;

(2)_ loop is executed 2 times
(c) loop is executed 5 times

. (b) .loop is executed 3 times
(d) loop is not executed

(xi) Keyword which is used while creating an object:
(a) new (b) void
(c) create (d) break

A sequence of statements enclosed between a pair of curly brackets is called
(a) anull statement < (b) acompound statement

(c) an empty statement (d) avoid statement

(xii)

(xiii) Which of the following is a unary operator?

(a) % b >
(c) ++ d /

(xiv) Data type of the value retumed by Math.random() is? .
-(a) int (b) double
(c) float . (d) byte

(xv) Singleline comn;ents can be added in the program by using .
@) // (b) /*
© W (d) /%

(2)




i :
(xvi) Which i 1
- one of the following staterments has multidirectional flow of control?

_ (8 switch - case
) if
(c) ifelse
¢ (d) else-if

. (xvii) The memory
(@) 4 bytes
(c) 8 bytes

capacity(storage size) of float datatype in bytes is?
(b) 2 bytes
» (d) 6bytes

(xviii) The output of System.out.primln(“Plan“+ “An” +

(a) Plan for
The
Planet

(b) Plan for the Planet

(¢) Plan
for

“for\n the”+ “\t” + “Planet”); will be:

the  Planet

(d) Plan
for
the  Planet

(xix) Which of the following is the correct option to input a complete line of text from the
console where sc is the object of Scanner class? .
(a) String s = sc.next( ); ‘ (b) String s = sc.nextline();
- (c) String s = sc.nextLine(); (d) string s = sc.nextLine( );

(xx) The statement used to stop the program immediately whenever required and terminate
the Java Virtual Machine is:

(a) System.in; : S - «(b) Syster:n.exit(O);
(c) System.out; : (d) break;
Question 2 ) N

(i)’ Ifx=9and y =5, determine the value of x after executing the following statement:
x+=(HX)%y+x |4 21

(ii) Write Java expression for the following mathematical expression:
res = |(x +y)'| 2
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(iii)

@iv)

4]

(vi)
(vii)

Rewrite the following using ternary operator:
iffp>q)

m = p;
else ifiq > p)

m=q;
else

m=(;
What will be the output of the following program snippet?
intsum=0, x = 0. /
while (x++ < 7)

sum +=x;

System.out.println(sum);

(S

Give the output of the following program part:
char opn = ‘c’; :
switch(opn)

case ‘e’: System.outlpn'ntln(“Economic");
break;

case ‘c’: System.out.println(“Cultural”);

case ‘t’ : System.out.pﬁntln(“mgiga_lf);
break; D
default: Sys[em.out.println(“Wrong Input”);

}

System.out.prin tin(opn);

Define Operator precedence.

Re-write the following brogram snippet by using a do-while construct:

for(charc = ‘a’; ¢ <= ‘f’; ¢ = (char)(c + 1)
System.out.println((int)c);

(viii) Differentiate between primitive datatype and reference datatype.

(ix)

x)

Give output of the following part of the program code:
double a = -56.53;

double b = 41.74;

double x = Math.abs(Math.ceil(++a));

double y = Math.round(Math.max (a, — -b));
System.out.println(x);

System.out.printin(y);

What are jump statements? Give an example.

7 =R
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mpany for selling goods deals witt

The compau\
) 0t i
s of customers i.e. Dealers and Retail 1S,

offers discount
avi M to the de. 5
paying the bill, as per the tariff given ‘:::"‘d retailer at the time of purchasing goods for

Days of payment Discount f 1
o S l i ealer
_ > or D i T
= - l > \ Discount for Retaile \
31 to 45 days l 10% \ 300/ \\
mo i - \

re than 45 days l No discount \\ No di

1scount

Write a program in Java
g /a to accept the number of d ithi i
e of tusto n 7 en ays within which the bill is pai
; :)d ores t}r]ner D’ for dealer and' R’ for retailer and the amount of purck:as‘;al((li’a{hc:\ t
play the net amount to be paid by the customer at the time of paying the. bill : EU 51

Question 4
A Dudeney number is a positive integer that is a perfect cube and also such that the sum of

its digits is equal to the cube root of the number. Write a program in Java to inputa
number to check and print whether it is a Dudeney number or not.

Example:

Consider the number 512.

Sum of digits =5+ 1 +2=8
Cube rootof 512 =38

As Sum of digits = Cube root of N

Qugstion 5
Write a program in Java to print the sum of the ‘following series:

S = _(J,’iﬂ.)z— + (p+a) _ P+’ (p+)"
4 6 n :
s

2
hould ask the user for required inpyts.

s

umber hence 512 is a Dudeney number.

The program S
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Questior ¢
~Write a progran, in Java to print the foil

#1

#3 |

#5 3 )

#7. 5 3

#0075 3
Qucs(ion7

Design a meny driven program in Java using switch-case const

volume of 3 cube, a sphere or of a cuboid:

1.
2
3.

Volume of cube = SXSxs

Volume of sphere = §7r r

Volume of cuboid = I xbxh

owing pattern:

ruct that computes the

The program should ask for the necessary inputs from the user.

Question 8
Write a program in Java to input a number and check ifit is an ugly number or not.

Ugly numbers are numbers whose only prime factors are 2, 3 or 5. 14 is not Ugly
since it includes another prime factor 7. 6 is Ugly since it includes only 2 and 3 as

prime factors.
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